EAGRAROBREERT — 2 N— ABISH —F

2020518160 () 12m;@%13H

K@V >%—M C3=m

‘ [Riz] ¥ ‘ [RERBB] — | & (&) 14000 =

[A&4£] 17 :800,000 3 ~ 23#%&:280,000H ~ 33#&:160,000 @ . 4 7#&:120,000 @ . 5 j&:84,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= 7 | BRE 1:30.6 6-6-5-1 |39.0| — 1 449 | N1IBE (FEFN)
1 71777147 #53.0 =) (o) | W) 77=zrEVa>
RiAfavR—5— B:A—-II4XTy K$2y R i
w3 # o8 | BHR 1:31.4 4-4-4-3 | 40.0 | — 3 461 | TREEETT (A0
2|5|5|Y—Y—4 56.0 (4) (+) | TER=
LY I FLIY BixR/3IT4 Paitie)
= B 5 | AEEX 1:31.9 7-7-8-6 |39.8| — 2 432 | DAIRE (AR
3111 | TATE=LIV 54.0 21/2) 42) | BAES
R:bh—t>TF4 08 B:b—trtLZTq BREHM IXF1T77—L4
N 7 | REND 1:31.9 9-9-10-8 [ 39.5| — 6 483 | JIA45P (AFN)
4 2| Fx)-HI>7 54.0 (2 E) (45) | AHIER
L:TUHYSL XTI R B TAIVRTLR R 4k
R 6 | SREA 1:32.1 8-8-7-7 |40.1| — 5 473 | BH—RI GEFN)
5/5|6 dANIV 54.0 (3/4) (-3) FhFEE—ER
R:7A7% B:FeAalH— b (B) A -FRL—-va>BaEI7
o s B E :32. —-3-2— . — EEME (H)
61812 N FLHFYZ R 4 8 ol 1(322)5 3-3-2-4 | 41.3 8 (4+742) s
R:A-I>FUr B:IVEAYH PN % e
N 4 5 1115 1:32.8 5-5-6-5 | 41.0 | — 9 461 | E:E2EE— (J1118)
1 ¢ EIREakda 54.0 1’172 Cy |
L:TVHA XTI K -V —-T7 F7 A
N . A+ R : ~10-9- — TREfwEE (aFn)
8 3| YIS AT Y i 5 s 1(.13/22.)9 11-10-9-9 | 40.6 4 (4_(323; i
L:Z2bOrT)8—-> BN/ IFF)— BEWIS
S = . 4 5 | BAXK 1:33.1 1-1-3-2 | 41.9| - 7 457 | IVARER ()
9/7!|9 X233 -T7v7 54.0 (3/4) +7) Eﬁ%EB%
R:Tov 784K B:T7SE7—4 THKE
ca g N FEBA :33. —-12-11- . — NSRS GaFn)
10 4| FENFRSTE 5 R 1(733t; 12-12-11-11{ 39.7 10 (ﬁg) ¥m;ﬁfﬁ
RN—VI54 B:FT4HIIT milll E
S, 4 6 | TEFHX 1:33.7 10-11-12-12| 40.2 | — 12 462 | HRIRIERE (GAFN)
1117110 vFY 54.0 (3) (+4) FRE
L:XZXp2eR B:TIVIT-L=ILy P NN
—: S 4 5 | EEES 1:34.5 2-2-1-10 |43.3| — 1 433 |FEE—B G#m)
12/8]11| LT 1 XIA—=2X 54.0 ) (g |ZATIZE-T51X W)
L2 14% 0 ML BiILTU VXA~ plin:: 2 e ]
@ 1—F—@&BIEf
13=zr= 9,11,12,5,8,7,1,6,2,10,3,4
23—+ — 9,11,12,5,8,7,1,6,2,3,10,4
3a—+— 11,12,9,5,7,8,6,1,3,2,4,10
41—+ — 7,9,5,12,8,1,6,2,3,11,4,10
[ RN
B OB 7 230M 714K 5-7 440M e & 5-6 550 3ER 1-5-7 1,380M
% B 7 1104 1-7 320/ | | B B 6-5 890M | | SEE 7-5-1 6,240M
5 180M4 1-5 560M B E 5-7 860
1 140 B H =5 1,610
ABTICOVWTRHDBTERERRODDE, JTHERLE,




